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Subject: Math
Objectives:
» To revise percentage change
« To reverse percentage problems

Q1: (a) The price of a TV is £260
In a sale the price is decreased by 20%

Work out the price of the TV in the sale.

266X 0B =2 .03

(6) The number of TVs sold increased from 70 to 98
Work out the percentage increase:

Ameunt of fncrease, = 43 =30 =28 "Ws

’%rCe«n’rage, increase= 23 =9

30+ O X110

Q2 he volume of juice in a can is increased from 250ml to'330ml.

Work out the percentage increase.
Amﬂ*’ 98 e - 20 mbL

Terantage increase = 8@ x4 =32 =324
asgXY 100
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Q3:

Q4:

Qs:

A PUPPY weighed 2kg.
Eight weeks later the puppy weighed 3.5kg
What was the percentage increase in the puppy's weight?
Amaunt c&’ rense = 3.5-2= 15 ¥q
%('Gmke%a erense= L5 xio =12 X5 -35:-14
_"2 X 10 Qox5 160
Peter's weight decreases from 80kg to 64kg.

Calculate the pefcentage decrease in Peter's weight.

P\mmn’r 5’8 AEC@S&: Q0O - &Y = \ékﬂ
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Sarah bought a TV for £250
Thrée yéarsilater she sold it for-£180

_ 1506-180
Amounk of s = L83
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Qe: A car is travelling at 40 kilometres per hour.
The car increases its speed lo 56 kilometres per hour.

Calculate the percentage increase in the speed of the car.

W+ acrease = 56-YO
Ao 3 =16 kKm per hour -

i = +2_ X5 = Yo -
’%rc’_'cn{—c\dg_ incpease = _EI%_:—‘Z = .’.?%:fg TG'D_ Yo Z

Q7: Ina sale the price of microwave decreases from £50 to £39.

Work out the percentage decrease in price.

Armaunt c£5q|&_ 50-29
=511

arense = Alxe —27 907,
%rmmﬂe d 50x> 100

Q8:  Christmas is on its way; so'the price:of a box of Thorrton's;chocolates has been increased
by 15%!! A box of Thotiton’s Contiiental now costs £17:25. How much did it cost

originally?
Olcq New
at 13.25
100 B
7. 22 XI0 25 X100
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Q3:  Apple is having a 20% off sale. | bought my new Ipod.for £40, how much was it originally?

O\A\ NCUJ
Lo
’XO X g0
lo \ 50 O(‘:.%-SD
G B X0
o P

Qi0: A special bottle'of coke contains-10% more than‘a normal bottle. The special bottle
contains 660 ml. How much does the normal bottle contain?

ad New M‘?’
e X =
X X E60 (D K
oo’ " 1O ‘
X = 660 mt

qi1: |IVan.Ukhov'the 2012 Olympics highj jump gold medallist j jumps2.4 metres..This'is 4%
‘lower than the best height he’ can]ump Whit s the best: heught he can jump?

Oiig ﬂ;ﬂ‘j C]éq(; tcox2.
i dgx -~ 2U0 +jz = 204 =5
00 < g6 A qgiiz s ?
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Qi12: Jacob buys a watch costing £84
THis costincludes VAT at a rate of 20%.

How muchis the watch without VAT?
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7@9( x 29 x 108
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